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25K1772 JEE 1S PSW, DDC oS N[E 30[pss] +20[s 1o 1|x100] £16 sou| 25] 1] 2] 10] | o6
25K1773 e HS PSW, SW-Reg  |MOS WE | 1000/pss| +30ls 5| 100]x104] 28] 2504 800 2] 8| 10| 1| 3.2
25K1774 Br HS PSW S NE | soolpss| +20ls 700l eolx10p| %16 250u | a0l 2l 4l 0] 1] 23
25K1775 B3 1S PSK 4oS N[E | 9oolpss| =30(s 8[|  60[x10x| %25 2500 ] 1200 2| 3] 10 lm}_ﬁ.S
25K1784 NEC RF S¥, DDC oS NE | 4s0lpss| =30fs| +12lp] 100|+10x| +30 100.] 450| 2.5] 5.5 10] 1| L5
25K1785 NEC RSO WS N|E | s00)pss| +30]s| +12(D| 100|+10x] +30 1004 500 2.5/ 3.5 1] 1| LS
251792 Fed otorD.00C__[wos 16 sojoss| x2ofs]  4s[p| 100]+100n) 20 1002 0] 0.8 2| 10| 1m| 18
25K1793, 17937 NEC RF S¥, DDC s NE{ sooloss| +sofs| +alp]  vs[xt0w| £a0] 1000 s0] u5] 5[ 0] 1] 08
25K1794 NEC RF S¥, DDC HoS NE | 9oolpss| x3ofs| +6[p] 100|+104| £30 1002] 90| 2.5| 3.5/ 10| 1a] 2
25K1795 NEC RF SH, DDC s NE | soolpss| +30[s| +s[p] 10|+x102] +30 100¢] 90| 2.5] 3.5 10| 1] 1
2541196 NEC RF SW,DDC oS ME | ooolpss| +sofs| +10lp| 1s0f+10x| +30 100.] 90| 2.5 3.5 10] In| L5
25K1803 BT ¥otor/Relay-D, SN | MOS Me | goofoss] +s30ls glo] 10| =1g| 230l [o.m{ 7] 1] 5| 28] ] 3
25K1804 HE Notor-D, DDC ws NE | 100[pss| +20s 5D 20|x10u| %16 100x] 100] 0.8 2 1] 1| 3
|25 1805 HE Motor-D, DDC MoS N[E | s00[pss| 30fs 70| 45{=100n] £30 s00.) 500l 2] 4] 10 wm] 3
25K1806 = LF 4, Imp-C J Np | -30l6DS 10n]G] 250m] -In| -20] 0.6m| 6m| 10| -0.2] -2.5] 10] 1ux| 2.5m
25K1807 BiL HS PSH ws  [we | soolpss| *30fs 4[p|  80|:104) *25 2504 1200 2| 3] 10 1| L7
|25K1808 Hr HS PSW oS e | sooss| xaefs ol as[xtoul =25 2s0u] 1200 2] 3l 1ol | v
25K1809 =574 BS PSW,SW-Reg | MOS NEe | eoofpss] sofs 5ol e0[x10k] £25 250.] 500] 2| 3 10 | 3
25K1813 B US SW s nE | 100lpss| +20(s| 30{p] 70|+100n] +20 1002] 100] 1.5 2.5 10/ 1] 13
25K1831 =04 HS PSK HoS NE | aso[pss| +30]s| 10[p]  so|+10x| %25 2504] 360] 2| 3| 10| 1| 4
25K1832 Ehe uS PSW oS ulE | sooloss] sofs| wolp]  solxiom| xos|  |asow| a00] 2| 3] 10| 1w 4
25K1833 BT Motor/Relay-D, S |MOS N|E 500(DSS| +£30/S| 2.5 D] 40! +1py £30 [ 0. 1m| 400 z}_ §) 25 m| 1
25K1834 AT Motor/Relay-D, SW|MOS N|E 800(DSS| +30(S 2D 40| +1p| £30 [ 0.1m| 640 2 50 25 lnﬂ 0.7
25K1835 "L HS PSW M0S N[E | 1500{pss| +20fs aol wos| x1u] 5] [sooufize0] 2[4 10] 1 0.3 P
25K1336 B3z [HS PSW, SH-Reg__ |MOS WE | 4so[pss] +30[s|  solp| 250|+10k | +25 ‘*2‘50# 60 2| 3] 10 | 2 2
25K1837 HIL  [HS PSW,SH-Reg ngs_ e | sooloss| £3o[s|  sofp] asolxnon| xes 250 | 400) 2] 3] 10| 1a| 2 5
25K1838 (L) (S) | HI3T HS PSW, DDC MOS NE | zsolpss] *30]s o] 10]+10k] 25 1004 | 200 2 s w03 0.5|
25K1846 WF Wotor/Relav-D. WS |N|E | so0bss| +sols|  ap| 40| +iu| £30| | ol 6a0| 1| 5| 25| 1 L§ 2|
25K1850 |NEC S¥, Motor-D ws  [§Je] eofpss| xz0[s| x10/p| 1.8{=10p]| £20 we| 0] 1] 25 10| 1] s3] 5|
25K1851 e S¥, Motor-D MOS NE | sojpss| xaofs| k1 i 18] +10u| +20 ] s0] 1] 2.5 10 1;,_7\ 14 |
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o | 6B @ [0 b |d | @ | @ | @ || B
85 200 o] 10 0.6] 10| 0.5|ton=35ns, toff=Tonstyp | D=0, 54, VGS=10V 295(GDS 25K1772
oo s15| o 10 2] 10 3/ ton=135ns, toff=345nstyp | 1D=34, VGS=10V ] 149]GDS 25K1773
1830 70| o 10 15| 10 4| ton=250ns, toff=440nstyp |1D=44, VGS=10V | 293|GDS 25K1774
130l 310 o 10 16 10 4{ton=160ns, toff=315nstyp | [D=44, VGS=10V | 293]6DS 25K1775
1330 2000 o 10 0.5 10 8| ton=T0ns, toff=115nstyp | D=6, VDD=150V 253|GDS 25K1784
1330] 2000 o] 10 0.7 10 6/ ton=10ns, toff=115nstyp | ID=64, VDD=150V 253/ GDS 25K1785
as0] 00| o] 10 0.02] 10|  20{ton=60ns, toff=210nstyp | ID=204, VDD=30¥ 341[6Ds 25K1792
430 u o 1 7.5 10 2| ton=25ns, toff=50nstyp | ID=24, VDD=150V 164/72:306|GDS 25K1793, 1793~Z
1000 0] o 10 2.8 10 3/ ton=50ns, toff=105nstyp | 1D=34, VDD=150V 253]6Ds 25K1794
a0 110l o] 10 16| 10 4| ton=Tons, toff=185nstyp | ID=44, VDD=150V 253/GDS 25K1795
2500] 120 o] 10 12] 10 5| ton=90ns, toff=230nstyp | ID=54, VDD=150V 253|GDS 25K1796
1800 9| of 20 11 10 4| ton=380ns. tf=430nstyp  |1D=25A, VDD=200V 291{6Ds 25K1803
500 0| o 10 0.28| 10|  2.5|ton-65ns, toff-280nstyp | ID=2. 54, VDD=50V 257/GDS 25K1804
870 B o 10 0.85] 10 4] ton=60ns, toff=100nstyp | ID=42, VDD=200V 335/GDS 25K1805
s| 15| o 10 250typ| 0| 1DSS 127]6Ds 25K1806
10|  150] o 10 4 10 2| ton=Tsns, toff=180nstyp | 1D=24, VGS=10V 116B|GDS 25K1807
10| 150 o 10 4 10 2[ton=Tsns, toff=180nstyp | ID=24. VGS=10V 292/GDS 25K1808
1000 45 o 10 1.5| 10| 2.5|ton=67ns, toff=160nstyp | ID=2. 54, VGS=10V 116B|GDS 25K1809
2400] 200 20 | 0.055] 10|  20]ton=120ns, toff=450nstyp | 1D=204, YDD=50¥ 369/GDS 25K1813
1050 0] o 10 0.8 10 5(ton=75ns, toff=135nstyp | ID=54, VGS=10V 293|cDs 25K1831
1050 0 o 10 0.9 10 5| ton=T5ns, toff=135nstyp | 1D=54, VGS=10¥ 293]GDS 25K1832
330 0] o 20 4| 10{  1.5]ton=40ns, tf=30nstyp 1D=1. 54, VDD=150V 190{6Ds 25K1838
350 25| 0| 20 7] 10 1| ton=35ns, t1=25nstyp 1D=14, VDD=200V 190{6Ds 25K1834
1700]  100] o] 10 1] 15 2| ton=105ns, toff=310nstyp | ID=24, VGS=10V 149|GDS 25K1835
s150| 180] o 10 0.1] 10]  25|ton=330ns. toff=T10nstyp |1D=254, VGS=10V 296{GDS 25K1836
8150|  180] o] 10 0.11] 10|  25/ton=330ns, toff=TT0nstyp | ID=254, VGS=10V 296|GDS 25K1887
80 5[ o 10 8| 10 0.5/ton=11ns. toff=14. Snstyp | iD=0. 54, VGS=10V 150(G0s 25K1838(L) (S)
730 0] o w0 4 10 2| ton=40ns, t{=35nstyp 1D=24, YDD=200V 249/GDS 25K1846
[ 1o00) 120] 0] 1m0 0.07] 10 5| ton=110ns, tof=360nstyp | ID=54, YDD=30V 365]GDS 25K1850
| 200 18] of 1] | 0.045] 10 8|ton=170ns, tof f=300nstyp | 1D=84, VDD=30V 365|GDS 25K1851




